Ultimate Times Table Challenge

8% = 12 x 7 = 7x8-= 32-= 52 =

42 + 6 = 23 = 33+3= 8+2-= 72+ 8 =
V36 = 32 +8 = 6 x 9 = 45 + 5 = 28 + 4 =
8 x 9= V25= 43 = 8+1= 18 + 3 =
4 x 12 = 25 + 10 = 21+7 = 9 x7= 6 x 8=
77 + 11 = 63 = 32+2= 54 + 6 = 63 +9 =
20+ 5 = 14 + 7 = 112 = 40 + 5 = 27 + 3 =
96 + 12 = 36 + 4 = Vi = 53 = 8 x 3 =
4 x 9 = 48 + 6 = 24 + 6 = 56 + 8 = 102 =

73 = 11 x 12 = 18 + 3 = V9 = 18 + 2 =
30+ 6 = V81 = 12?2 = 108 + 12 = 2+2=
48 + 12 = 25 +5 = 13 = 12 x 9 = 77 + 11 =
21+ 3= 10° = V49 = 36 + 6 = 54 + 9 =
8 +4 = 556 +5 = 9 x11-= 16 + 8 = 30+ 6 =
2% = 12 x 8 = 35 +5 = 90 + 9 = 48 + 8 =
65 + 10 = 84 + 7 = 24 + 12= 42 = V36 =
54 + 6 = V144 = 15 + 3 = 95 + 10 = 11+ 11 =
65+ 5 = 28 +7 = 9 x 8= 45 + 10 = 12 + 3 =
V16 = 50 + 5 = 32+ 4= 82 = 42 + 7 =
9+9-= 22+ 2= 9% = 10+ 5 = V64 =
63 +7 = 9+3= 72+ 9= 6+3= 96 + 8 =
12 = 9 x 3= V100 = 16 + 2 = 90 + 9 =
12 x 6 = 100 + 5 = 12 + 6 = 62 = 4 x 8§ =
27 + 9 = 20 + 10 = 9+1-= 12 x5 = 60 + 12 =
7% = 36 +3 = 9 x 8= 12 + 4 = V121 =
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3% = 12 x 8 = 8 x 8= 52 = 22 =
48 + 6 = 43 = 42 + 3 = 8+ 4= 72+ 2=
V49 = 32+2= 8 x 9= 35+5= 24 + 4 =
8§ x 7= Vo4= 6° = 7+1-= 18 + 6 =
4 x 6 = 30 + 10 = 21+3 = 12 x 7 = 9 x 8=
99 + 11 = 23 = 38+ 2= 56 + 8 = 63 +7 =
30+ 5= 14+ 2 = 12% = 45 + 5 = 27 +9 =
36 + 12 = 34 + 2 = V16 = 73 = 5x3-=
8§ x 9= 48 + 6 = 24 + 8 = 64 + 8 = 112 =
53 = 12 x 12 = 18 + 6 = V9 = 18 + 9 =
60 + 6 = V81 = 112 = 108 + 12 = 4+2=
48 + 8 = 45 + 5 = 23 = 9 x 9= 77 +7 =
21+ 7 = 103 = V49 = 36 + 4 = 54 + 6 =
84 + 4 = 25+ 5 = 9 x 12 = 16 + 4 = 305 =
62 = 12 x 8 = 45 + 5 = 90 + 10 = 40 + 8 =
50 + 10 = 84 + 12 = 48 + 12= 7% = V49 =
52 + 4 = V144 = 18 + 3 = 80 + 10 = 12x2 =
55+ 5 = 56 +7 = 8§ x 7= 60 + 10 = 12x3 =
V36 = 40 + 5 = 36 + 4 = 92 = 42 + 7 =
8 +8-= 33+3= 8% = 15 + 5 = V36 =
63 +9 = 9+3-= 72+ 12 = 21+ 3= 96 + 8 =
82 = 5x 3= V100 = 22+ 2= 90 + 9 =
100 + 20 = 100 + 20 = 12 + 3 = 82 = 6 x 8=
27 + 3 = 250 + 10 = 9+1-= 12 x5 = 60 + 10 =
1% = 36 + 9 = 9 x9= 12 +3 = V121 =
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60 + 10 = V36 15+ 5 = 18 + 6 = 9 x9=
112 = 77 + 7 = 22+ 2= 42 +7 = 35+ 5=
18 + 9 = 8§ x7= 36 + 4 = V36 = 12 x7 =
250 + 10 = 8x8 = V81 92 = 56 + 8 =
12 x5 = 27 + 3 = 22 = 96 + 8 = 45 + 5 =
4+ 2= 43 = 54 + 6 = 90 + 9 = 9x9-=
8 + 4 = V49 25 +5 = V64 36 + 4 =
12 + 3 = V100 = 45 + 5 = 12 + 3 = 9 x 12 =
21+ 3= 12+ 3 = 55+ 5 = 5% = 9x8=
9+1-= 72 + 2 = 22 + 2= 64 + 8 = 52 + 4 =
34 + 2 = 84 + 12 = 48 + 12= 84 + 4 = 30+ 5 =
7+1-= 12+ 12 = 18 + 3 = 8 x 8= 82 =

52 = 8 x9 = 14 +2 = 42 + 3 = 36 + 4 =
72 +12 = 21+3 = 12+ 3 = 10° = 60 + 6 =
82 = 27 +9 = 48 + 6 = 40 + 10 = V9 =

63 + 9 = 23 = 8§ x 7= 18 + 6 = 108 + 12 =
72 = 12 = 53 = 23 = 9x9=
12 x7 = V144 12 x 8 = V25 36 + 4 =
30 + 10 = 108 + 12 = 62 = 38+ 2= V16

12 x 8 = 48 + 8 = 45 + 5 = 122 = 56 + 7 =
49 + 7 = 63 +7 = 21+7 = V49 15 + 3 =
32+:2-= 64 + 8 = 12 x 12 = 33+3 = 90 + 10 =
4 x 6 = 36 + 12 = v100 9+3-= 80 + 10 =
99 + 11 = 32= 82 = 5x 3= 60 + 10 =
30+ 5= 40 + 5 = V4 100 + 20 = 36 +9 =
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Answers

82 = 64 12 x 7 = 84 7 x 8 =56 32=9 52 = 25

42 + 6 =17 2°=8 33+3=11 8+2=4 72+8=9
V36 = 6 32+8=4 6 X 9 =54 45+5=9 28+ 4 =17
8§ x9 =72 v25=5 43 = 64 8+1=8 18+3=6
4 x 12 = 48 25+10=2.5 (21+7=3 9 x7 =63 6 x 8 = 48
77 + 11 =17 63 = 216 32+2=16 54 +6=9 63+9=17
20+ 5=4 14 +7 =2 112 =121 40+5=8 27+3=9
96 + 12 =8 36 +4=9 V4 =2 53 =125 8 x 3 =24
4 x 9 =36 48 + 6 = 8 24 + 6 = 4 56 + 8 =17 10 = 100
73 = 343 11 x 12=132 |18+3 =6 V9 =3 18+2=9
30:6=5 v81=9 122 = 144 108 + 12 =9 2+2=1
48 + 12 = &4 25+5=5 1*=1 12 x 9 = 108 77 +11=17
21+3=17 10° = 1000 V49 = 7 36 +6=6 54 +9 =6
8+4=2 55 +5=11 9 x 11 = 99 16 + 8 =2 30:6=5
22=4 12 x 8 = 96 35 +5=7 90 + 9 = 10 48 + 8 =6
65 + 10 = 6.5 84 + 7 =12 24 + 12=2 42 = 16 V36 = 6

54 +6=9 V144 = 12 15+3=5 95 + 10 = 9.5 11+11=1
65+ 5 =13 28+7 =4 9 x 8 =172 45 + 10 = 4.5 12+3=4
V16 = &4 50 + 5 = 10 32+4=8 82 = 64 42 +7=6
9+9=1 22+2=11 92 =81 10+5=2 V64 = 8

63+7=9 9+3=3 72+9=8 6+3=2 96 + 8 = 12
12=1 9 x 3 =27 V100 = 10 16 +2=8 90 + 9 = 10
12 x 6 =72 100 + 5 = 20 12 + 6 =2 6% =36 4 x 8 =32
27 +9=3 20+ 10 =2 9+1=9 12 x 5 = 60 60+ 12 =5
72 = 49 36 + 3 =12 9 x 8 =72 12+ 4 =3 V121 =11
w Page & of 6 visit twinkl.com




Ultimate Times Table Challenge

Answers

32=9 12 x 8 = 96 8 x 8 = 64 52 = 25 22=14

48 + 6 =8 43 = 64 42 + 3 =14 8 +4=2 72 +2=36
V49 = 7 32+:2=16 8 x 9 =172 35+5=17 24 + 4 =6
8 x 7 =56 V64= 8 62 = 36 7+1=17 18+6=3
L x 6 =24 30+10=3 21+3=17 12 x 7 = 84 9 x 8 =172
99 + 11 =9 23-=8 38+2=19 56 + 8 =17 63+7=9
30:5=6 14 +2=17 122 = 144 45 +5=9 27+9=3
36 +12=3 34 +2=17 V16 = 4 7° = 343 5x3=15
8§ x9 =72 48 + 6 =8 24 + 8 =3 64 +8=8 112 = 121
53 =125 12 x 12 =144 |18 +6=3 V9 =3 18 +9 =2
60 + 6 = 10 V81 =9 112 =121 108 + 12 =9 4+2=2
48 + 8 =6 45 +5=9 2°=8 9 x 9 =81 77 +7 =11
21+7=3 10° = 1000 V49 =7 36 +4=9 54 +6=9
84 + 4 =21 25+5=5 9 x 12 = 108 16 + 4 = &4 30:5=6
6% = 36 12 x 8 = 96 45 +5=9 90 + 10 = 9 40 + 8 =5
50+10=5 84 +12=17 48 + 12= 4 72 = 49 V49 =7
52 + 4 =13 V144 = 12 18+3=6 80+ 10 =38 12 x2 =24
55 +5=11 56 +7=8 8 x 7 =56 60 + 10 = 6 12 x 3 =36
V36 = 6 40 +5=8 36 +4=9 92 = 81 42 +7=6
8§+8=1 33+3=11 82 = 64 15+5=3 V36 = 6
63+9=17 9+3=3 72+12=6 21+3=17 96 + 8 = 12
8% = 64 5x3=15 V100 = 10 22+2=11 90 + 9 = 10
100 +20=5 100 +20=5 12+3=4 82 = 64 6 x 8 =48
27 +3=9 250+ 10=25 |9+1=9 12 x 5 = 60 60 + 10 = 6
12=1 36 +9=4 9 x9 =81 12+3=4 V121 = 11
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Answers

60 + 10 = 6 V36 = 6 15+5=3 18+6=3 9 x 9 =81
112 =121 77 +7 =11 22+2=11 42 +7=6 35:5=7
18+9 =2 8 x7="56 36 +4=9 V36 = 6 12 x 7 = 84
250+ 10=25 |8x8 =64 V81 =9 92 = 81 56 +8=17
12 x 5 = 60 27+3=9 22=4 96 + 8 = 12 45 +5=9
4+2=2 43 = 64 54 +6=9 90 + 9 = 10 9 x 9 =81
8+4=2 V49 = 7 25+5=5 V64 = 8 36 +4=9
12+3=4 v100 = 10 45 +5=9 12+3=4 9 x 12 = 108
21+3=17 12+3 =4 55+ 5 =11 53 =125 9 x8=72
9+1=9 72 +2 =236 22 +2=11 64 + 8 =8 52 + 4 =13
34 + 2 =17 84 + 12 =17 48 + 12= 4 84 + 4 =21 30:5=6
7+1=17 12+12=1 18 +3=6 8 x 8 = 64 8% = 64

52 =25 8 x9 =172 14+2=17 42 + 3 = 14 36 +4=9
72+12=6 21+3=17 12+3 =4 10° = 1000 60 + 6 = 10
82 = 64 27 +9=3 48 + 6 =8 40 + 10 = & V9 =3
63+9=17 2°-=8 8 x7="56 18+6=3 108 + 12 =9
7% = 49 17=1 53 =125 2°=8 9 x9 =81
12 x 7 = 84 V144 = 12 12 x 8 = 96 v25 =5 36 +4=9
30+10=3 108 + 12 =9 6% = 36 38+2=19 V16 = 4
12 x 8 = 96 48 + 8 =6 45 +5=9 122 = 144 56 +7=8
49 +7=17 63+7=9 21+7=3 V49 = 7 15+3=5
32:2=16 64 + 8 =8 12 x 12 =144 |33 +3 =11 90 + 10 = 9
4 x 6 =24 36 +12 =3 V100 = 10 9+3=3 80+ 10 =8
99 + 11 =9 32=9 82 = 64 5x3=15 60 +10=6
30:5=6 40 + 5 =8 Vi = 2 100+ 20 =5 36 + 9 =4
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